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PAPER - III
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Note :This paper contains Seventy Five (75) multiple-choice questions, each

question carrying TWO (2) marks. Attempt All the questions.
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1. According to ldealism :

(A) Ideas are more important than

objects

(B) Objects are more important

than ideas

(C) Both ideas and objects are

important

(D) Both ideas and objects are not

important

2. The term “existentialism” was

coined by ...coooeerreines .
(A) J. P. Sartre

(B) Gabriel Mareel
(C) S. Kierkgaard

(D) Martin Buber
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Sri Aurbindo’s views on education

give importance to ..........c........... .
(A) Religion

(B) Science

(C) Politics

(D) Skills

A vedantic teacher will not hesitate

in teaching about this world

because :

(A) This world is real

(B) The students come from this
worldly world only

(C) This world of Maya is also an

expression of Brahma

(D) We can not escape from living

in this world

In the Gandhian education, for
teaching a child, the knowledge
shouldbe .........ccooeene..... .

(A) Reconstructed from the child’s
contexts

(B) Evolved from Scriptures
(C) Imparted by a proper interaction
of child and the teacher

(D) Changing as per child’s needs
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Which Article, under Constitutional
Provisions of Education in India
made Provision of instruction in
mother tongue at the primary
stage ?

(A) Article 351

(B) Article 350 (A)

(C) Article 46

(D) Article 30

Which one of the following is a social

objective of education, according to

Kothari commission ?

(A) To explain the role of
~ institution
(B) To provide knowledge of

different cultures

(C) To equalize opportunity for

education

(D) To mould the character of

individuals
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The state government implemented
.................. in 2002-2003 to encourage

girl's education.

(A) Gunotsav

(B) Sarswati Sadhana Yojna

(C) Vidya Laxmi Yojna

(D)} School Enrolment Drive
Which of the following is not a
reason for educational inequalities
among backward castes people 7
(A) They migrate for survival

(B) They are economically

backward

{C) Their parents’ literacy rate is

very low

(D) They are*

involved in

agriculture
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10.

11.

Which one of the following is a

limitation of education as a tool for

social change ?

(A) Education creates national

awareness among the people

(B) The process of change through

education is very slow

(C) Education develops the
efficiency of business and

industries

(D) Education accelerates the

scientific research

Hypotheses are formulated

N e .

(A) Logical reasoning
(B) Concept formation
(C) Problem solving

(D) Creative thinking
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12.

13.

14.

90% of the mind is developed 12.

during ....cccoeeveeeeens .
(A) Prenatal stage
(B) Infancy

{C)} Adolescence period

(D} Adulthoed

A new or universal fact is 13.

generalized by establishing

relationship between known facts

through ... .

(A) Deductive Reasoning
(B) Inductive Reasoning
(C) Thinking

(D) Problem Solving

Which of the following is not a 14,

characteristic of human

development ?
(A) It is a life long process

(B) It is reflected in the behaviours

of a person
(C) It 1s a part of a growth

(D) It 18 qualitative
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15.

16.

17.

“Conflict between reality and ideal”

is a problem of ................... .
(A) Infancy

(B) Child

(C) Adult

(D) Adolescents

Which are three dimensions of

intelligence according to Guilford ?
{A) Operations, content, activity
(B} Activity, content, product

(C)} Operations, activity, product
(D} Operations, content, product

Habit of not responding to the
stimulus is called ................ according

to Hull.

(A) Reactive inhibition
(B) Oscillation

(C) Conditioned inhibition

(D) Threshold
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18. According to Hull, which of the

following statements is frue ?

(A) Drive produces need

(B) Need produces drive

(C) Deprivation is a base of need

(D) Excitatory potential is a sum of

drive and incentive motivation

19. A behaviour, in which many

actions are involved, 1s called
..................... hahaviour.
(A) Molor

(B) Molecular

(C) Independent

(D) Dependent

20. Who gave the concept of cognitive

map ?

(A) Gagne
(B} Pavlov
(C) Kohlar

(D) Tolman
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21.

22.

23.

Which one of the following is an
important aspect of personality

according to Gordan W. Allport ?
(A) Attitudes

(B) Modes of behaviour

(C) Dynamic organization

(D) Interests

Which one of the following is a

biological factor of personality ?
(A) Heredity

(B) Family

(C) The school system

(D) Social values

Which one of the following is an
environmental

personality ?

(A) Chromosomes

(B) Beliefs

(C) Autonomic Nervous System

(D) Genes
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24.

25.°

26.

Who is considered to be the founding
father of psycho-analysis from the

given below ?

(A) C. G. Jung

(B) Alfred Adler

(C) Abraham Maslow
(D) Sigmund Freud

“The person with strong sex drive
started a campaign against obscene
shows defence

posters” ego

mechanism based on .................. .
(A) Reaction formation

(B) Regression

(C) Projection

D) Rationalizatioln

Which of the following statements
is true ?

(A) Guidance and counselling are
synonymous terms
(B)

(€)

Guidance is a part of counselling

Counselling is a part of

guidance
D)

Guidance is a specialized

service of counselling
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27.

28.

What of the following is not a

purpose of guidance and

counselling ?

{A) To make the person improve

the understanding of self

(B) To help the person in adapting

to the changes or new

environment

(C) To enable the person to get a

suitable job

(D)

To make the person self

dependent

Which of the following is not a

characteristic of guidance ?

(A) It is a process

(B) It is both generalized and

specialized service

(C) It has its roots in education

system

(D) It can be given by anybody to

anybody
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29.

30.

31.

Observation can be used as a 29

technique for ..........c....... .
(A) Group guidance

(B) Personal guidance

(C) Personal guidance and
counsgelling

D) Groﬁp guidance and
counselling

Aptitude test can be used to guide  30.

a person for .............oceeeene. .
(A) Selecting suitable profession
(B) Sele_acting proper school
(C) Selecting proper books

(D) Selecting proper group

Which of the following is correct ? a1

(A) Hypothesis and assumption are

the same
(B) Hypothesis can be proved
(C) Hypothesis can be tested

(D) Assumption can be tested
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32.

33.

34.

In which type of research, small

sample can be sufficient ?
(A) Case study

(B) Exploratory survey
(C) Census survey

(D) Correlational

Structured observation can be used

{A) Interview

(B) Historical research

(C) Phenomenological research
(D) Experimental research

Which of the following is an

example of probability sampling ?
(A) Purposive

(B) Jugdemental

(C) Snow-ball

(D) Stratified
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35.

36.

37.

Following is an example of semi-

structured tool :

(A) Rating scale

(B) Attitude scale
(C) Inventory

(D) Interview schedule

You want to study Dr. Babasaheb 36.

Ambedkar’s
education. Which of the following
methods will be useful ?

contribution to

(A) Correlational

(B) Causal-comparative
(C) Experimental

(D) Historical

The extent to which a research

37.

design indicates that the change in
the independent variable causes
change in the dependent variable

1s known as .................. .
(A) External validity
(B) Internal validity

(C) Content validity

(D) Predictive validity
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38. Which of the following is not an

39.

40.

example of qualitative research ?
(A) Ethnography

(B) Phenomenology

(C) Experimental study

(D) Narrative research

In a historical research, the
researcher tries to establish the
age of the paper on which a

letter was written. This is known

......................

(A) External criticism
(B) Internal criticism
(C) Primary source

(D) Secondary source

Only post-test single group design

is an example of ..................... .
(A) Factorial design

(B} True experimental design
(C) Pre-experimental design

(D) Quasi-experimental design
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41.

42.

Universalization of elementary

education means :

(A) Bringing every educable child

to school

(B) Providing access to school for

every group of society

(C) Providing education upto
elementary level to all children

upto the age of 14 years

(D) Providing best learning
conditions in the school for all
children upto the age of 14

years

Which of the following agencies is
responsible for the pre-service
training of elementary school

teachers ?
(A) NCTE
(B) SCERT
(C) DIET

(D)} SSA
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43.

44.

The slow progress of vocational
education in India can be mainly

attributed to :

(A) Low budgetary provisions to

vocational education
(B) Mind set of the masses

{C) Low enrolment in vocational

courses

(D) Craze for white-collar jobs in

the society

The first open university of the

world was started by :
(A)y UK.

(B) India

(Cy US.A.

(D) Australia
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45.

46.

Which of the following statements
is nof true in case of educational

administration in US.A. ?

(A) U.S.A. education system is

decentralized

(B) The U.S.A. government has no

role in education

(C) The private bodies in U.S.A.
have a say in matters of

education

(D) The state has a quality control

mechanism for education

In which of the following curricular
models, the idea of decentralization

is least witnessed ?
(A) Grass root

(B} Demonstration
(C) System Analysis

(D) Administrative
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47. Mr. Joshi designed a Imodel of

curriculum, implemented it in the
school for two years. Every body in
the school—principal, teachers,
students and others, witnessed it,
appreciated it and decided to
implement it permanently from

the next session. This is an example

of :

(A) Grass root model

(B) Demonstration model
(C) System Analysis model
(D} Administrative model

The students, teachers and parents
of a school evolved a model of
curriculum. It was appreciated by
everyone and recommended to
higher authorities for
implementation. This is an example

of :

(A) Grass root model

(B) Demonstration model
(C) System Analysis model
(D) Administrative model

Education-III
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49,

50.

51.

The year-end annual curriculum
evaluation is known as :

(A) Formative

(B) Summative

(C) Both formative and summative
(D)} Neither

formative nor

summative

Formative evaluation is :

(A) Only comprehensive

(B) Only continuous

(C) Both comprehensive and
continuous

(D) Neither comprehensive nor

continuous
PERT stands for the following :

(A) Problem Evaluation and

Research Training

(B) Programme Evaluation and

Research Training

(C) Problem Evaluation and

Review Technique

(D) Programme Evaluation and

Review Technique
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52. Which of the following is not a

83.

54.

function of leadership ?
(A) Planning

(B) Organising

(C) Teaching

(D) Supervising

One of your students has made a
very serious complaint against a
teacher in your school. You need to
suspend the teacher urgently. How

will you take the decision ?
(A) Democratically

(B) Bureaucratically

(C) Participatively

(D) Autocratically

Which one of the following is not

an approach to Administration ?
(A} Leadership
(B) Bureaucracy

(C) Human Relations

(D) Systems Approach
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99.

56.

57.

Which tool can be used to measure

leadership ?
(A) OCDQ
(B) NVTI
(C) MBTI
(D) LBDQ

In order to compare the performance
of a person with reference to others
in a similar group, the following is

used :

(A) Validity
(B) Reliability
(C) Norms
(D) Objectivity

Which of the following 1s used to
compare the achievement of a
student according to a pre-

determined level ?

(A) Norm—referenced test
(B) Grading system

(C) Criterion-referenced test

(D} Diagnostic test
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58.

59.

60.

Education-III

Which of the following is used to
measure a student’s ability to

organise ideas ?

(A) Multiple choice question
(B) Match the column
(C) Inventory

(D) Essay type questions

Developing 18 necessary

for using computers in evaluation.
(A) Reliability

(B} Norms

(C) Validity

(D) Question bank

The type of validity that deals with
compatibility between theoretical

concept and a measuring

instrument is :

{A) Content validity

(B) Construct validity
{C} Discriminant .Validity

(D) Predicitve validity
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61. Which of the following is the highest

62.

63.

level of teaching ? |
(A) Knowledge

(B) Reflection

(C) Memory

(D) Understanding

When does the communication

process complete ?

{A) When receiver gives feedback

(B) When sender sends message

(C) When receiver receives

message

(D) When receiver interprets the

message

Which of the following is not a

software 7

(A) Learning theories
(B) Black-board

(C) Teaching methods

(D) Principles of programmed

learning
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64.

65.

66.

Education—III

Who gave the idea of programmed  64.

instruction ?
(A) Pavlov

(B; Thordike
(C) Skinner

(D) Gagne

Which of the following is more g5

scientific ?

(A) Seminar

{B) Team Teaching
(C) Panel Discussion

(D) Models of Teaching

Which agency is responsible for the  686.

training of teachers of children with

special needs ?
(A) MCI

(B) AICTE
(C) NCTE

(D) RCI
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67.

63.

69.

Education-III

Which of the following national
level institutions is related to

visually impaired ?
(A) NAB
(B) NCTE
(C) NIOS
(D) NIVH

Which of the following is not a cause

of orthopaedic handicap ?
(A) Genetic defect

(B) Emotional trauma
(C) Infectious diseases
(D) Injury

Which one of the following
provisions for the education of the
gifted and creative children is

regarded as most suitable ?
(A) Personalised coaching
(B) Enrichment programmes
(C) Skipping grades

(D) Special schools
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70. What is the méjor cause of learning . .
70. v alad ey siee 4 S 7

disability ?

. (A) aldlBs quq
(A) Emotional breakdown

(B) suine
(B) Malnutrition

(C) Heredity (C) igaildisa

(D) Environment (D) *lauals

71. The other name of Kothari 71. s8] Yari 2idaletd A ... 9.

Commission Report is .................. . . ] o
(A) Indian Education Commission

(A) Indian Education Commission
(B) National Education

(B) National Edueation
Commission

Commission

(C) Education and National
(C} Education and National

Development
Development

D. S. Kothari C 1881
(D) D. 8. Kothari Commission D) othari Lommission

Report Report
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79. Which of the following is currently 72, l3niafl 56 e 52 Mee-i Rasi-l

related to the orientation of higher AR Wil vl dolad 8 7
education teachers in India ?
(A) NUEPA
(A) NUEPA
(By HRDC
(B) HRDC
(C) ASC
(C) ASC
(D) NCERT
(D) NCERT

73. Which of the following is not related ~ 73. sid2d [Basi-l udd nas qla wa

to the continuous professional

(el g qeifad -l ?

growth of working teachers ?

(A) Faculty Improvement
(A) »LEIUs uxYdl stdsHl
Programme
(B) SCERT
(B} SCERT
() Orientation and Refresher
Courses (C) wdeyuial »is 2y adll

(D) Bachelor of Education

Programme (D) B.Ed. Misux
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74. Who is a reflective teacher ?

75.

(A) Who reflects upon various

sources of knowledge

(B) Who continuously reviews
himself for becoming a better

teacher

(C) Who is always in search of a

best method of teaching

(D} Who constantly reads for better

teaching

Which of the following B.Ed.
passouts can prove to be a better

teacher ?.

(A) A throughout first class passout
(B} A high 1.Q. holder

(C) One with love for children

(D) One with high attitude for

teaching
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